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TDC Even Semester Exam., 2019

POLITICAL SCIENCE

ANANSAT

(Pass)

(2nd Semester)

CACourse No. : PLSP-201

(Introduction to Political Theory-II)

Full Marks: 50

PassMarks: 17

Time 2 hours

The figures in the margin indicate full marks

for the questions

Answer five questions, taking one from each Unit

UNIT-I

1. (a) Explain any four factors for the growth1.

4of Nationalism.

(b) Write three merits and three limitations

3+3-6of Nationalism.

2. (a) What are the elements of the

Nation-State?

(b) Discuss the growth of the Nation-State(b)
in the 20th Century. 6
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UNIT-II

3. (a) Write any four differences between

and modern
classical liberalism

liberalism.

(b) Point out three merits and three

3+3-6
demerits of liberalism.

2
4. (a) Mention two principles of Marxism.

(b) Discuss Marxist theory of Class

Struggle.

Class

UNIT-III

6
5. (a) Explain Plato's theory of Justice.

(b) How is modern justice different from

Platonic justice?

6. (a) Mention four features of Platonic theory
6.

of Education.

(b) Discuss the stages in Plato's Education

System.

UNIT-IV

2
7. (a) How does Aristotle define State?

(b) Discuss Aristotle's views on origin,
nature and purpose of State. 8
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8. (a) Why did Aristotle condemn democracy?

(b) What are the different types of
6democracy, according to Aristotle?

UNIT-V

9. (a) Who is a citizen, according to Aristotle?

(b) Why did Aristotle exclude old men,
fromwomen and mechanics

citizenship? 2+2+2-6

of10. (a) Explain the general causes
revolution, according to Aristotle. 6

(b) Write the limitations of Aristotle's theory
of Revolution. 4
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